

EXPLICIT EXPRESSIONS FOR CATALAN-DAEHEE NUMBERS

DMITRY V. DOLGY, GWAN-WOO JANG, DAE SAN KIM, AND TAEKYUN KIM

ABSTRACT. In this paper, we give some new and interesting identities and properties for the Catalan-Daehee numbers arising from p -adic invariant integrals on \mathbb{Z}_p .

1. INTRODUCTION

We note that the expression of $\sqrt{1+t}$ is given by

$$(1.1) \quad \sqrt{1+t} = \sum_{m=0}^{\infty} (-1)^{m-1} \binom{2m}{m} \left(\frac{1}{4^m}\right) \left(\frac{1}{2m-1}\right) t^m.$$

Replacing t by $-4t$ in (1.1), we have

$$(1.2) \quad \begin{aligned} \sqrt{1-4t} &= 1 - 2 \sum_{m=0}^{\infty} \binom{2m}{m} \frac{1}{m+1} t^{m+1} \\ &= 1 - 2 \sum_{m=0}^{\infty} C_m t^{m+1}, \quad (\text{see [8]}), \end{aligned}$$

where C_m is the Catalan number.

The Catalan-Daehee numbers are defined by the generating function

$$(1.3) \quad \sum_{n=0}^{\infty} d_n t^n = \frac{\frac{1}{2} \log(1-4t)}{\sqrt{1-4t}-1}, \quad (\text{see [9]}).$$

We observe that

$$(1.4) \quad \begin{aligned} &\frac{\frac{1}{2} \log(1-4t)}{\sqrt{1-4t}-1} \\ &= \frac{1 \log(1-4t)}{2(-4t)} (\sqrt{1-4t}+1) \\ &= \frac{1}{2} \sum_{l=0}^{\infty} \frac{4^l}{l+1} t^l \left(2 - 2 \sum_{m=0}^{\infty} C_m t^{m+1} \right) \\ &= \sum_{l=0}^{\infty} \frac{4^l}{l+1} t^l \left(1 - \sum_{m=0}^{\infty} C_m t^{m+1} \right) \\ &= \sum_{n=0}^{\infty} \frac{4^n}{n+1} t^n - \sum_{l=0}^{\infty} \frac{4^l}{l+1} t^l \sum_{m=0}^{\infty} C_m t^{m+1} \end{aligned}$$

2010 *Mathematics Subject Classification.* 05A19, 11B83, 11S80.

Key words and phrases. Catalan-Daehee numbers, p -adic invariant integral.

$$\begin{aligned}
&= \sum_{n=0}^{\infty} \frac{4^n}{n+1} t^n - \sum_{n=1}^{\infty} \left(\sum_{m=0}^{n-1} \frac{4^{n-m-1}}{n-m} C_m \right) t^n \\
&= 1 + \sum_{n=1}^{\infty} \left(\frac{4^n}{n+1} - \sum_{m=0}^{n-1} \frac{4^{n-m-1}}{n-m} C_m \right) t^n.
\end{aligned}$$

Thus, by (1.3) and (1.4), we get

$$\begin{aligned}
(1.5) \quad d_n &= \begin{cases} 1, & \text{if } n = 0, \\ \frac{4^n}{n+1} - \sum_{m=0}^{n-1} \frac{4^{n-m-1}}{n-m} C_m, & \text{if } n \geq 1 \end{cases} \\
&= - \sum_{m=0}^n \frac{4^{n-m}}{n-m+1} C_{m-1}^*, \quad \text{for all } n \geq 0,
\end{aligned}$$

where

$$C_{m-1}^* = \begin{cases} -1 & \text{if } m = 0, \\ C_{m-1} & \text{if } m \geq 1. \end{cases}$$

We also define Catalan-Daehee polynomials $d_n(x)$ which are given by the generating function

$$(1.6) \quad \frac{\frac{1}{2} \log(1-4t)}{\sqrt{1-4t}-1} (1-4t)^{\frac{x}{2}} = \sum_{n=0}^{\infty} d_n(x) t^n.$$

Note that $d_n(0) = d_n$, ($n \geq 0$).

Let p be a fixed odd prime number. Throughout this paper, $\mathbb{Z}_p, \mathbb{Q}_p$ and \mathbb{C}_p will denote the ring of p -adic integers, the field of p -adic rational numbers and the completion of the algebraic closure of \mathbb{Q}_p . The p -adic norm is normalized as $|p|_p = \frac{1}{p}$. Let $f(x)$ be a continuous \mathbb{C}_p -valued function on \mathbb{Z}_p . Then the fermionic p -adic integral on \mathbb{Z}_p is defined by Kim as

$$\begin{aligned}
(1.7) \quad I_{-1}(f) &= \int_{\mathbb{Z}_p} f(x) d\mu_{-1}(x) \\
&= \lim_{N \rightarrow \infty} \sum_{x=0}^{p^N-1} f(x) (-1)^x, \quad (\text{see [3-21]}).
\end{aligned}$$

From (1.7), we note that

$$(1.8) \quad I_{-1}(f_1) = -I_{-1}(f) + 2f(0), \quad \text{where } f_1(x) = f(x+1).$$

Thus, by (1.8), we get

$$\begin{aligned}
(1.9) \quad \int_{\mathbb{Z}_p} (1-4t)^{\frac{x}{2}} d\mu_{-1}(x) &= \frac{2}{1 + \sqrt{1-4t}} \\
&= \sum_{n=0}^{\infty} \frac{1}{n+1} \binom{2n}{n} t^n \\
&= \sum_{n=0}^{\infty} C_n t^n, \quad (\text{see [8-17]}).
\end{aligned}$$

where $t \in \mathbb{C}_p$ with $|t|_p < p^{-\frac{1}{p-1}}$.

On the other hand, for any uniformly differentiable function $f : \mathbb{Z}_p \rightarrow \mathbb{C}_p$, the p -adic invariant integral $I_1(f)$ is given by

$$(1.10) \quad \begin{aligned} I_1(f) &= \int_{\mathbb{Z}_p} f(x) d\mu(x) \\ &= \lim_{N \rightarrow \infty} \frac{1}{p^N} \sum_{x=0}^{p^N-1} f(x), \quad (\text{see [12, 13]}). \end{aligned}$$

From (1.10), we can derive the following integral equation:

$$(1.11) \quad I_1(f_1) = I_1(f) + f'(0),$$

where $f_1(x) = f(x+1)$ and $f'(0) = \left. \frac{df(x)}{dx} \right|_{x=0}$.

Now, motivated by the relation in (1.9), Kim was led to consider

$$(1.12) \quad \int_{\mathbb{Z}_p} (1-4t)^{\frac{x}{2}} d\mu(x) = \frac{\frac{1}{2} \log(1-4t)}{\sqrt{1-4t}-1} = \sum_{n=0}^{\infty} d_n t^n,$$

for $|t|_p < p^{-\frac{1}{p-1}}$ (see [9]).

Also,

$$(1.13) \quad \begin{aligned} \int_{\mathbb{Z}_p} (1-4t)^{\frac{x+y}{2}} d\mu(y) &= \frac{\frac{1}{2} \log(1-4t)}{\sqrt{1-4t}-1} (1-4t)^{\frac{1}{2}x} \\ &= \sum_{n=0}^{\infty} d_n(x) t^n. \end{aligned}$$

In addition, it is amusing that $n!d_n(x)$ is the Sheffer sequence for $(g(x) = \frac{e^t-1}{t}, f(t) = \frac{1}{4}(1-e^{2t}))$. That is, $n!d_n(x) \sim \left(\frac{e^t-1}{t}, \frac{1}{4}(1-e^{2t})\right)$.

Recall that the Daehee numbers are given by the generating function

$$(1.14) \quad \frac{\log(1+t)}{t} = \sum_{n=0}^{\infty} D_n \frac{t^n}{n!}, \quad (\text{see [6]}).$$

In this paper, we give some new explicit expressions for Catalan–Daehee numbers which are derived from p -adic invariant integrals on \mathbb{Z}_p . In addition, we investigate some properties and identities for the Catalan–Daehee numbers arising from our explicit expressions.

2. EXPLICIT EXPRESSION FOR CATALAN–DAEHEE NUMBERS

From (1.6) and (1.14), we have

$$(2.1) \quad \begin{aligned} &\sum_{n=0}^{\infty} d_n t^n \\ &= \left(\frac{\log(1-4t)}{-4t} \right) \frac{1}{2} (\sqrt{1-4t} + 1) \\ &= \left(\sum_{l=0}^{\infty} (-4)^l D_l \frac{t^l}{l!} \right) \left(1 - \sum_{m=0}^{\infty} C_m t^{m+1} \right) \end{aligned}$$

$$\begin{aligned}
&= \sum_{n=0}^{\infty} (-4)^n D_n \frac{t^n}{n!} - \left(\sum_{l=0}^{\infty} (-4)^l D_l \frac{t^l}{l!} \right) \left(\sum_{m=0}^{\infty} C_m t^{m+1} \right) \\
&= \sum_{n=0}^{\infty} (-4)^n D_n \frac{t^n}{n!} - \sum_{n=1}^{\infty} \left(\sum_{m=0}^{n-1} \frac{(-4)^{n-m-1}}{(n-m-1)!} D_{n-m-1} C_m \right) t^n \\
&= 1 + \sum_{n=1}^{\infty} \left(\frac{(-4)^n}{n!} D_n - \sum_{m=0}^{n-1} \frac{(-4)^{n-m-1}}{(n-m-1)!} D_{n-m-1} C_m \right) t^n.
\end{aligned}$$

Thus, by (2.1), we obtain the following theorem.

Theorem 1. For $n \geq 0$, we have

$$\begin{aligned}
(2.2) \quad d_n &= \begin{cases} 1, & \text{if } n = 0, \\ \frac{(-4)^n}{n!} D_n - \sum_{m=0}^{n-1} \frac{(-4)^{n-m-1}}{(n-m-1)!} D_{n-m-1} C_m, & \text{if } n \geq 1 \end{cases} \\
&= - \sum_{m=0}^n \frac{(-4)^{n-m}}{(n-m)!} D_{n-m} C_{m-1}^*.
\end{aligned}$$

For $|t|_p < p^{-\frac{1}{p-1}}$, we have

$$\begin{aligned}
(2.3) \quad \sum_{n=0}^{\infty} d_n t^n &= \int_{\mathbb{Z}_p} (1-4t)^{\frac{x}{2}} d\mu(x) \\
&= \sum_{m=0}^{\infty} \left(\frac{1}{2} \right)^m \frac{1}{m!} (\log(1-4t))^m \int_{\mathbb{Z}_p} x^m d\mu(x) \\
&= \sum_{m=0}^{\infty} 2^{-m} B_m \sum_{n=m}^{\infty} S_1(n, m) \frac{1}{n!} (-4t)^n \\
&= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n 2^{-m} B_m S_1(n, m) \frac{(-4)^n}{n!} \right) t^n,
\end{aligned}$$

where B_n are the ordinary Bernoulli numbers defined by the generating function

$$\frac{t}{e^t - 1} = \sum_{n=0}^{\infty} B_n \frac{t^n}{n!}.$$

Therefore, by (2.3), we obtain the following theorem.

Theorem 2. For $n \geq 0$, we have

$$d_n = \frac{(-1)^n}{n!} \sum_{m=0}^n 2^{2n-m} B_m S_1(n, m),$$

where $S_1(n, m)$ is the Stirling number of the first kind.

Note that

$$\begin{aligned}
(2.4) \quad \int_{\mathbb{Z}_p} (1-4t)^{\frac{x}{2}} d\mu(x) &= \sum_{n=0}^{\infty} (-4)^n \int_{\mathbb{Z}_p} \binom{\frac{x}{2}}{n} d\mu(x) t^n \\
&= \sum_{n=0}^{\infty} d_n t^n.
\end{aligned}$$

Thus, by (2.4), we obtain the following corollary.

Corollary 3. For $n \geq 0$, we have

$$(2.5) \quad \int_{\mathbb{Z}_p} \binom{\frac{x}{2}}{n} d\mu(x) = (-1)^n \frac{d_n}{4^n},$$

and

$$(2.6) \quad \int_{\mathbb{Z}_p} \binom{\frac{x}{2}}{n} d\mu(x) = \frac{1}{n!} \sum_{m=0}^n 2^{-m} B_m S_1(n, m).$$

For $\lambda \in \mathbb{Z}_p$, $|t|_p < p^{-\frac{1}{p-1}}$, λ -Daehee polynomials $D_{n,\lambda}(x)$ are defined by the generating function

$$(2.7) \quad \frac{\lambda \log(1+t)}{(1+t)^\lambda - 1} (1+t)^x = \sum_{n=0}^{\infty} D_{n,\lambda}(x) \frac{t^n}{n!}, \quad (\text{see [7]}).$$

Thus, by (2.7), we get

$$(2.8) \quad \begin{aligned} \int_{\mathbb{Z}_p} (1+t)^{\lambda y+x} d\mu(y) &= \frac{\lambda \log(1+t)}{(1+t)^\lambda - 1} (1+t)^x \\ &= \sum_{n=0}^{\infty} D_{n,\lambda}(x) \frac{t^n}{n!}. \end{aligned}$$

In particular, λ -Daehee numbers $D_{n,\lambda} = D_{n,\lambda}(0)$ are given by

$$(2.9) \quad \begin{aligned} \frac{\lambda \log(1+t)}{(1+t)^\lambda - 1} &= \sum_{n=0}^{\infty} D_{n,\lambda} \frac{t^n}{n!} \\ &= \int_{\mathbb{Z}_p} (1+t)^{\lambda y} d\mu(y). \end{aligned}$$

From (2.8), we have

$$(2.10) \quad \begin{aligned} \sum_{n=0}^{\infty} d_n t^n &= \frac{\frac{1}{2} \log(1-4t)}{\sqrt{1-4t} - 1} \\ &= \sum_{n=0}^{\infty} D_{n,\frac{1}{2}} (-4)^n \frac{t^n}{n!}. \end{aligned}$$

Thus, by (2.10), we get

$$(2.11) \quad d_n = \frac{(-4)^n}{n!} D_{n,\frac{1}{2}}, \quad (n \geq 0).$$

Replacing t by $\frac{1}{4}(1 - e^{2t})$ in (1.12), we have

$$(2.12) \quad \begin{aligned} \sum_{m=0}^{\infty} B_m \frac{t^m}{m!} &= \sum_{n=0}^{\infty} \frac{(-1)^n d_n}{4^n} (e^{2t} - 1)^n \\ &= \sum_{n=0}^{\infty} \frac{(-1)^n d_n n!}{4^n} \sum_{m=n}^{\infty} S_2(m, n) \frac{2^m t^m}{m!} \\ &= \sum_{m=0}^{\infty} \left(\sum_{n=0}^m (-1)^n 2^{m-2n} n! S_2(m, n) d_n \right) \frac{t^m}{m!}. \end{aligned}$$

Therefore, we obtain the following theorem.

Theorem 4. For $m \geq 0$, we have

$$(2.13) \quad B_m = \sum_{n=0}^m (-1)^n 2^{m-2n} n! S_2(m, n) d_n,$$

where $S_2(m, n)$ is the Stirling number of the second kind.

It is not difficult to show that

$$(2.14) \quad \int_{\mathbb{Z}_p} (1-4t)^{\frac{x+y}{2}} d\mu(y) = \sum_{n=0}^{\infty} d_n(x) t^n \\ = \sum_{n=0}^{\infty} D_{n, \frac{1}{2}} \left(\frac{x}{2}\right) (-4)^n \frac{t^n}{n!}.$$

Thus, by (2.14), we get

$$(2.15) \quad \int_{\mathbb{Z}_p} \binom{\frac{x+y}{2}}{n} d\mu(y) = \frac{d_n(x)}{(-4)^n}, \quad d_n(x) = \frac{(-4)^n}{n!} D_{n, \frac{1}{2}} \left(\frac{x}{2}\right), \quad (n \geq 0).$$

We observe that

$$(2.16) \quad (1-4t)^{\frac{x}{2}} \\ = \sum_{l=0}^{\infty} \left(\frac{x}{2}\right)^l \frac{1}{l!} (\log(1-4t))^l \\ = \sum_{l=0}^{\infty} \left(\frac{x}{2}\right)^l \sum_{m=l}^{\infty} S_1(m, l) (-4)^m \frac{t^m}{m!} \\ = \sum_{m=0}^{\infty} \left(\sum_{l=0}^m S_1(m, l) \frac{(-4)^m}{m!} \left(\frac{x}{2}\right)^l \right) t^m$$

Thus, by (2.16), we get

$$(2.17) \quad \sum_{n=0}^{\infty} d_n(x) t^n \\ = \frac{\frac{1}{2} \log(1-4t)}{\sqrt{1-4t}-1} (1-4t)^{\frac{x}{2}} \\ = \left(\sum_{k=0}^{\infty} d_k t^k \right) \left(\sum_{m=0}^{\infty} \sum_{l=0}^m S_1(m, l) \frac{(-4)^m}{m!} \left(\frac{x}{2}\right)^l t^m \right) \\ = \sum_{n=0}^{\infty} \left(\sum_{m=0}^n \sum_{l=0}^m S_1(m, l) \frac{(-4)^m}{m!} d_{n-m} \left(\frac{x}{2}\right)^l \right) t^n.$$

Therefore, by (2.17), we obtain the following theorem.

Theorem 5. For $n \geq 0$, we have

$$(2.18) \quad d_n(x) = \sum_{m=0}^n \sum_{l=0}^m (-1)^m \frac{2^{2m-l}}{m!} S_1(m, l) d_{n-m} x^l \\ = \sum_{l=0}^n \left(\sum_{m=l}^n (-1)^m \frac{2^{2m-l}}{m!} S_1(m, l) d_{n-m} \right) x^l.$$

We note that

$$\begin{aligned}
 (2.19) \quad & \int_{\mathbb{Z}_p} (1-4t)^{\frac{y+x}{2}} d\mu(y) \\
 &= \sum_{m=0}^{\infty} 2^{-m} \frac{1}{m!} (\log(1-4t))^m \int_{\mathbb{Z}_p} (y+x)^m d\mu(y) \\
 &= \sum_{m=0}^{\infty} 2^{-m} \frac{1}{m!} (\log(1-4t))^m B_m(x) \\
 &= \sum_{m=0}^{\infty} 2^{-m} B_m(x) \sum_{n=m}^{\infty} S_1(n, m) \frac{(-4)^n}{n!} t^n \\
 &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n 2^{-m} B_m(x) S_1(n, m) \frac{(-4)^n}{n!} \right) t^n,
 \end{aligned}$$

where $B_m(x)$ are the Bernoulli polynomials.

Therefore, by (1.13) and (2.19), we obtain the following theorem.

Theorem 6. For $n \geq 0$, we have

$$d_n(x) = \frac{(-4)^n}{n!} \sum_{m=0}^n 2^{-m} S_1(n, m) B_m(x).$$

From (1.6), we have

$$\begin{aligned}
 (2.20) \quad & \sum_{n=0}^{\infty} d_n(x) t^n \\
 &= \frac{\frac{1}{2} \log(1-4t)}{\sqrt{1-4t}-1} (1-4t)^{\frac{x}{2}} \\
 &= \frac{\log(1-4t)}{-4t} (1-4t)^{\frac{x}{2}} \frac{1}{2} (\sqrt{1-4t}+1) \\
 &= \left(\sum_{l=0}^{\infty} (-4)^l D_l \left(\frac{x}{2} \right) \frac{t^l}{l!} \right) \left(1 - \sum_{m=0}^{\infty} C_m t^{m+1} \right) \\
 &= \sum_{l=0}^{\infty} (-4)^l D_l \left(\frac{x}{2} \right) \frac{t^l}{l!} - \left(\sum_{l=0}^{\infty} (-4)^l D_l \left(\frac{x}{2} \right) \frac{t^l}{l!} \right) \left(\sum_{m=0}^{\infty} C_m t^{m+1} \right) \\
 &= \sum_{n=0}^{\infty} (-4)^n D_n \left(\frac{x}{2} \right) \frac{t^n}{n!} - \sum_{n=1}^{\infty} \sum_{m=0}^{n-1} (-4)^{n-m-1} D_{n-m-1} \left(\frac{x}{2} \right) \frac{C_m}{(n-m-1)!} t^n \\
 &= D_0 \left(\frac{1}{2} x \right) - \sum_{n=1}^{\infty} \left(\sum_{m=1}^{n-1} \frac{(-4)^{n-m-1} D_{n-m-1} \left(\frac{x}{2} \right) C_m}{(n-m-1)!} \right) t^n \\
 &= - \sum_{n=0}^{\infty} \left(\sum_{m=-1}^{n-1} \frac{(-4)^{n-m-1} D_{n-m-1} \left(\frac{x}{2} \right) C_m^*}{(n-m-1)!} \right) t^n \\
 &= - \sum_{n=0}^{\infty} \left(\sum_{m=0}^n \frac{(-4)^{n-m}}{(n-m)!} D_{n-m} \left(\frac{x}{2} \right) C_{m-1}^* \right) t^n.
 \end{aligned}$$

Therefore, by (2.20), we obtain the following theorem.

Theorem 7. For $n \geq 0$, we have

$$d_n(x) = - \sum_{m=0}^n \frac{(-4)^{n-m}}{(n-m)!} C_{m-1}^* D_{n-m} \left(\frac{x}{2} \right).$$

Remark. We note that

$$\begin{aligned} (2.21) \quad & \sum_{n=0}^{\infty} d_n(x) t^n \\ &= \frac{\frac{1}{2} \log(1-4t)}{\sqrt{1-4t}-1} (1-4t)^{\frac{1}{2}x} \\ &= \left(\sum_{l=0}^{\infty} d_l t^l \right) \left(\sum_{m=0}^{\infty} \binom{\frac{1}{2}x}{m} (-4)^m t^m \right) \\ &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n \binom{\frac{1}{2}x}{m} (-4)^m d_{n-m} \right) t^n. \end{aligned}$$

Thus, by (2.21), we get

$$d_n(x) = \sum_{m=0}^n \binom{\frac{1}{2}x}{m} (-4)^m d_{n-m}, \quad (n \geq 0).$$

REFERENCES

1. A. Bayad and T. Kim, *Higher recurrences for Apostol-Bernoulli-Euler numbers*, Russ. J. Math. Phys. **19** (2012), no. 1, 1–10. MR 2892600
2. B. S. El-Desouky and A. Mustafa, *New results on higher-order Daehee and Bernoulli numbers and polynomials*, Adv. Difference Equ. (2016), 2016:32, 21. MR 3455249
3. L.-C. Jang and J. G. Lee, *A note on the Barnes-type q -Euler polynomials*, Adv. Difference Equ. (2015), 2015:250, 7. MR 3379051
4. J. Jeong, S.-H. Rim, and B. M. Kim, *On finite-times degenerate Cauchy numbers and polynomials*, Adv. Difference Equ. (2015), 2015:321, 12. MR 3412564
5. D. Kang, J. Jeong, S.-J. Lee, and S.-H. Rim, *A note on the Bernoulli polynomials arising from a non-linear differential equation*, Proc. Jangjeon Math. Soc. **16** (2013), no. 1, 37–43. MR 3059283
6. D. S. Kim and T. Kim, *Daehee numbers and polynomials*, Appl. Math. Sci. (Ruse) **7** (2013), no. 117-120, 5969–5976. MR 3141903
7. D. S. Kim, T. Kim, S.-H. Lee, and J.-J. Seo, *A note on the lambda-Daehee polynomials*, Int. J. Math. Anal. (Ruse) **7** (2013), no. 61-64, 3069–3080. MR 3162167
8. T. Kim, *A note on Catalan numbers associated with p -adic integral on \mathbb{Z}_p* , Proc. Jangjeon Math. Soc. **19** (2016), no. 3, 493–501.
9. T. Kim and D. S. Kim, *Differential equations associated with Catalan-Daehee numbers and their applications*, (communicated).
10. ———, *A note on nonlinear Changhee differential equations*, Russ. J. Math. Phys. **23** (2016), no. 1, 88–92. MR 3482767
11. ———, *Some identities of Eulerian polynomials arising from nonlinear differential equations*, Iran. J. Sci. Technol. Trans. Sci. **2016** (2016), 1–6.

12. T. Kim, D. S. Kim, and J.-J. Seo, *Differential equations associated with degenerate Bell polynomials*, Inter. J. Pure and Appl. Math. **108** (2016), no. 3, 551–559.
13. ———, *Symmetric identities for an analogue of Catalan polynomials*, Proc. Jangjeon Math. Soc. **19** (2016), no. 3, 515–521. MR 3091952
14. T. Kim, D. S. Kim, J.-J. Seo, and H.-I. Kwon, *Differential equations associated with λ -Changhee polynomials*, J. Nonlinear Sci. Appl. **9** (2016), no. 5, 3098–3111. MR 3491173
15. F. T. Leighton and M. Newman, *Positive definite matrices and Catalan numbers*, Proc. Amer. Math. Soc. **79** (1980), no. 2, 177–181. MR 565333
16. E.-J. Moon, J.-W. Park, and S.-H. Rim, *A note on the generalized q -Daehee numbers of higher order*, Proc. Jangjeon Math. Soc. **17** (2014), no. 4, 557–565. MR 3243802
17. J.-W. Park, *On the λ -Daehee polynomials with q -parameter*, J. Comput. Anal. Appl. **20** (2016), no. 1, 11–20. MR 3469437
18. A. D. Sands, *On generalised Catalan numbers*, Discrete Math. **21** (1978), no. 2, 219–221. MR 523069
19. L. W. Shapiro, *A short proof of an identity of Touchard's concerning Catalan numbers*, J. Combinatorial Theory Ser. A **20** (1976), no. 3, 375–376. MR 0406819
20. Y. Simsek, *Apostol type Daehee numbers and polynomials*, Adv. Stud. Contemp. Math. **26** (2016), no. 3, 555–566.
21. Y. Simsek, S.-H. Rim, L.-C. Jang, D.-J. Kang, and J.-J. Seo, *A note on q -Daehee sums*, J. Anal. Comput. **1** (2005), no. 2, 151–160. MR 2475196
22. D. Singmaster, *An elementary evaluation of the Catalan numbers*, Amer. Math. Monthly **85** (1978), no. 5, 366–368. MR 0491210

HANRIMWON, KWANGWOON UNIVERSITY, SEOUL SEOUL 139-701, REPUBLIC OF KOREA, INSTITUTE OF NATURAL SCIENCES, FAR EASTERN FEDERAL UNIVERSITY, 690950 VLADIVOSTOK, RUSSIA
E-mail address: `d_dol@mail.ru`

DEPARTMENT OF MATHEMATICS, KWANGWOON UNIVERSITY, SEOUL 139-701, REPUBLIC OF KOREA
E-mail address: `jgw5687@naver.com`

DEPARTMENT OF MATHEMATICS, SOGANG UNIVERSITY, SEOUL 121-742, REPUBLIC OF KOREA
E-mail address: `dskim@sogang.ac.kr`

DEPARTMENT OF MATHEMATICS, KWANGWOON UNIVERSITY, SEOUL 139-701, REPUBLIC OF KOREA
E-mail address: `tkkim@kw.ac.kr`